=T LTA—RER

SH5E10A8H(R)
g 2 | K £ Tk 4 > | =% | HDCP | ®Rwk 7
2 RAGR &A 41 35 76 9.0 67.0 300
R FE KE 37 39 76 6.3 69.7 200
33 i & 39 39 78 8.1 69.9 150
viEiva M BRAER 38 40 78 7.2 70.8 100
561 gk &8 41 38 79 8.1 70.9 90
64z FE —BB 47 44 91 19.8 71.2
741 A% R 46 37 83 10.8 72.2 75
813 A0 % 37 44 81 8.1 72.9
9fz x5 ®HE 47 44 91 17.1 73.9
101 AR ER 40 45 85 10.8 74.2 75
1143 A Bih 41 45 86 10.8 75.2
12431 &R EER 55 51 106 30.6 75.4
13fiz A0 EX 43 39 82 6.3 75.7
14431 RIE  #E 43 42 85 9.0 76.0
154z A <493 43 44 87 9.9 77.1
164z & IRAT 46 42 88 10.8 77.2
174 e FA 43 49 92 14.4 77.6
1843 ZR EA 46 47 93 15.3 77.7
19431 Eif RE 43 44 87 9.0 78.0
2041 &k F5 43 39 82 3.6 78.4 45
214 IR FF 46 47 93 14.4 78.6
224 B REA 43 45 88 9.0 79.0
23131 HIS  IEfA 41 50 91 11.7 79.3
24431 KB & 46 47 93 13.5 79.5
25 e #— 43 44 87 7.2 79.8
261 Rl TE 51 48 99 18.9 80.1
274 TR #E 45 39 84 3.6 80.4
281 BB FE 40 47 87 6.3 80.7
294 FE —7 46 43 89 8.1 80.9
301 =2 49 46 95 13.5 81.5 45
314 & OEX 44 47 91 9.0 82.0
32{iz =K B4 41 50 91 9.0 82.0
334z Kig R 47 43 90 7.2 82.8
34431 | 3 46 46 92 9.0 83.0
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35fi == S 46 47 93 9.0 84.0

361 AR XKE& 43 51 94 9.9 84.1

371 & = 50 48 08 13.5 84.5

381 R 50 52 102 17.1 84.9

391 WE S 54 57 111 22.5 88.5

4011 ®BH FH 60 61 121 32.4 88.6 45
4161 WE E# 48 49 97 8.1 88.9

BBY FE Z=POER 58 52 110 20.7 89.3 75
4343 fIER R— 54 51 105 15.3 89.7
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